
10327 10327.5 10328 10328.5 10329
cyclenum

1.5

2

2.5

3

3.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

4−

3.5−

3−

2.5−

2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

1−

0.5−

0

0.5

1

de
lta
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_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

8099

8099.5

8100

8100.5

8101

8101.5

8102

8102.5

8103

ru
n

run:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

0
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1.5

2
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3

se
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segment:cyclenum {run == 8101}



10327 10327.5 10328 10328.5 10329
cyclenum

68.5−

68−

67.5−

67−

66.5−

us
l_

1X
usl_1X:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

4−

3.5−

3−

2.5−

2−

us
l_

4a
Y

usl_4aY:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

0

0.5

1

1.5

2

us
l_

4e
X

usl_4eX:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

18

18.2

18.4

18.6

18.8

19

19.2

19.4

19.6

19.8

20

20.2

us
l_

4e
Y

usl_4eY:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

35.5−

35−

34.5−

34−

33.5−

us
l_

12
X

usl_12X:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

8099

8099.5

8100

8100.5

8101

8101.5

8102

8102.5

8103

ru
n

run:cyclenum {run == 8101}



10327 10327.5 10328 10328.5 10329
cyclenum

115.5−

115−

114.5−

114−

113.5−us
r_

1X

usr_1X:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

6−

5.5−

5−

4.5−

4−us
r_

4a
Y

usr_4aY:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

163.5

164

164.5

165

165.5

us
r_

4e
X

usr_4eX:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

16.2

16.4

16.6

16.8

17

17.2

17.4

17.6

17.8

18

18.2

18.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
r_

12
X

usr_12X:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

8099

8099.5

8100

8100.5

8101

8101.5

8102

8102.5

8103

ru
n

run:cyclenum {run == 8101}



10327 10327.5 10328 10328.5 10329
cyclenum

16021.5

16022

16022.5

16023

16023.5

us
l_

co
il1

usl_coil1:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

2076

2076.5

2077

2077.5

2078

us
l_
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il3

usl_coil3:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

4305.5

4306

4306.5

4307

4307.5

us
l_
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il4

usl_coil4:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

2642−

2641.5−

2641−

2640.5−

2640−us
l_

co
il6

usl_coil6:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

1473

1473.5

1474

1474.5

1475

us
l_

co
il7

usl_coil7:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

8099

8099.5

8100

8100.5

8101

8101.5

8102

8102.5

8103

ru
n

run:cyclenum {run == 8101}



10327 10327.5 10328 10328.5 10329
cyclenum

14584.5−

14584−

14583.5−

14583−

14582.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

1821−

1820.5−

1820−

1819.5−

1819−

us
r_

co
il3

usr_coil3:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

4364.5

4365

4365.5

4366

4366.5

us
r_

co
il4

usr_coil4:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

2803−

2802.5−

2802−

2801.5−

2801−

us
r_

co
il6

usr_coil6:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

34345.6

34345.8

34346

34346.2

34346.4

34346.6

34346.8

34347

34347.2

34347.4

34347.6

34347.8

us
r_

co
il7

usr_coil7:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

8099

8099.5

8100

8100.5

8101

8101.5

8102

8102.5

8103

ru
n

run:cyclenum {run == 8101}



10327 10327.5 10328 10328.5 10329
cyclenum

121−

120.5−
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119.5−

119−

1X
_c
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1X_coil1:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

14.5

15

15.5

16

16.5

1X
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l3

1X_coil3:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

245.2

245.4
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245.8

246

246.2

246.4

246.6

246.8

247

247.2

247.4

1X
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l7

1X_coil7:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

227−

226.5−

226−

225.5−

225−

4e
X
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4eX_coil1:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

22−

21.5−

21−

20.5−

20−
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X
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4eX_coil3:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

260.2
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4eX_coil7:cyclenum {run == 8101}



10327 10327.5 10328 10328.5 10329
cyclenum
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291
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4aY_coil4:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

122.5−

122−

121.5−
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Y
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4aY_coil6:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

39.5−

39−

38.5−

38−

37.5−
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Y

_c
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4aY_coil7:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

268

268.5

269

269.5
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4e
Y

_c
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4eY_coil4:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

149.5−
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148.5−

148−

147.5−4e
Y
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4eY_coil6:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

32−

31.5−

31−

30.5−

30−
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Y
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4eY_coil7:cyclenum {run == 8101}



10327 10327.5 10328 10328.5 10329
cyclenum

235.5−
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234.5−
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233.5−

12
X

_c
oi
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12X_coil1:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

89.5−

89−

88.5−

88−

87.5−

12
X

_c
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12X_coil3:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

3
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4.5

5

12
X

_c
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12X_coil4:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

5.5

6

6.5

7

7.5

12
X

_c
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l6

12X_coil6:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum
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X

_c
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12X_coil7:cyclenum {run == 8101}

10327 10327.5 10328 10328.5 10329
cyclenum

8099

8099.5

8100
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8101
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8103

ru
n

run:cyclenum {run == 8101}
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